
A. 
4 x1 

B. x6 

C. 
M8x24 x8 

D.  x4 

E.  WWI
 M6X45

x6 

F.  WS
 M6x18  

x8 

x2 
J.  WP M6X30

K.

 M6X45 x5 
  

D+F

2DL
RECBK

D+F

2DL

 

    
K  2 SZT

3
 

1

 
2

K SZT 

1 SZT 
 G 

1 SZT 

G. 
US 5X25

x1

H.

x 5

 fi 50 H-80
x4 

1/3GB - Installation instructions

DE - Montageanleitung

PL - Instrukcja montażu

CZ -  Montážni  návod

SK -  Návod ni montáž  

NL - Handleiding voor montage

Name -Name - Nazwa - Jméno - Meno -  Naam :
CALPO 

E-mail :   zamowienia@imperialmeble.pl Tel: +48 (089) 741 91 06

L.R.

1.R+L

2. R 2. L

Imperial Meble Sp. z o.o ul. Zwycięstwa 30 PL 11-710 PIECKI 

RECBK



C+EC+E

1

C+J

3
3

2 2

1

C+J

2DL
2DL

1

H x5

1

H x5

3. L3. R

2/3Name -Name - Nazwa - Jméno - Meno -  Naam : CALPO 

4. R 4. L

RECBK
RECBK



OK.

10

OK.

3/3Name -Name - Nazwa - Jméno - Meno -  Naam : CALPO 


	Strona 1
	Strona 2
	Strona 3

